=
N = Al g M A
AR A CEEN AR A Y
SU(E DNF R =P i= L) Rl g
DR ELSY R AAG (EEAXSA IdNMEE3AH) (&)
2 - 4
2. 2A B B3N - MEAY - B 0l &t o8 il HlnE2
Ml &bt & 31,910,140 18,865,800 13,044,340
= 10,000,000
< 21,910,140
HEUU XA 31,910,140 18,865,800 13,044,340
= 10,000,000
< 21,910,140
HUXASSLSUD RS 26,910, 140 13,865,800 13,044,340
= 10,000,000
< 16,910,140
HURNMSSHSLTAAML(LELARNARZALNSE S 26,910, 140 13,865,800 13,044,340
)
= 10,000,000
< 16,910,140
ATHEUHUEH X ESALS 1,773,600 1,215,500 558, 100
207 A RO 120,000 0 120,000
01 A2 ESHI 120,000 0 120,000
D322SS Z0UXNE2RSAAANESA 120,000
307 2Iz2tol ™ 40,000 50,000 A 10,000
02 RIZFE MM E X 40,000 50,000 A 10,000
OHMosI M2 & ()Mol XICHS 40,000
403 Ut E X201 H 1,613,600 1,165,500 448,100
01 X SHHMA2E X 1,613,600 1,165,500 448,100
OOgs1002ts 2= Aty 584,000
OO=SZHHLSANAEESAY 1,029,600
Ofl LA KI Al 24 CH & 400,000 400,000 0
403 XIS E A0l & 400,000 400,000 0
01 XM A=2EE 400,000 400,000 0
CTAIZOfl LA KT AL 2 CH & AHS KT & 400,000
SAIALSAY 220,000 220,000 0
303 L& 3 20,000 20,000 0
01 243 20,000 20,000 0
OEASEHESRFIIZAY 20,000
308 XXX S0 A 200,000 200,000 0
1037/ 2SoHUHSILAENAASH 200,000 200,000 0
OS2 g=sMO SR AL 200,000
MUK SZEUHE/AIRS 230,000 800,000 A 570,000
307 2Iz2t0l A 230,000 800,000 A570,000
04 DI2HHALAISE E X 230,000 800,000 A 570,000
OSHAMUHKNZHAHEH 230,000
S MOS0l X2 A LM ALK& 72,000 80,000 A 8,000




A= FRI ML A FE0UX &Y Dt
M UXMESLALIIBEES
el UM SSHLXZAG (L AXNSRNZALNSESA) (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
201 ¢er24| 27,000 30,000 A 3,000
03 A2 I 27,000 30,000 A 3,000
OWUXI2HBAEERASK 27,000
307 glz2tol & 45,000 50,000 A5,000
04 QIZFHALAIH B = 45,000 50,000 A5,000
O=HM 2ol X o4 A IS ALK& 45,000
HUXASSdLRA—FA 3,153,000 2,911,000 242,000
201 Let24dy] 238,000 300,000 262,000
01 At 22l 238,000 300,000 A 62,000
Ogst=2Hl 238,000
ONUXNZALAMTHMAUXAESERE 238,000
307 21201 A 65,000 65,000 0
02 YAFAAHEX 65,000 65,000 0
OAT0IEFHAAELEHISGHES 65,000
308 AHAIEHHSOIA 600,000 600,000 0
01 HXNHHBHEELS 600,000 600,000 0
OS2scdzdlad+8X 400,000
OASEXNHAEHEIIHAAMNL A XA 200,000
403 A X EHS =0l A 2,250,000 1,946,000 304,000
01 X EHHMA=E L 2,250,000 1,946,000 304,000
OZEAMNADNSSXNEXE 2,250,000
Ol A XI &2 2F ALY 7,747,000 6,081,400 1,665,600
201 ¢er24| 32,000 0 32,000
05 SE a2l 32,000 0 32,000
OZ3=C8g e D= ZE WA 32,000
401 A& HIZ 2018 1,274,000 0 1,274,000
01 A& HI 1,274,000 0 1,274,000
OSSJ 202 WA 1,274,000
402 2I2tXtE2 01 & 250,000 0 250,000
01 212t 2 AL B (RERTH ) 250,000 0 250,000
OZ4=ECH3 AT HJALEDZE Al 250,000
403 Mt SHHSA=0l& 6,191,000 6,081,400 109,600
01 X SHMA2E X 6,191,000 6,081,400 109,600
OAMZOH X Z AL 6,191,000
AQEDESHAMM(ZINEEHIH) 634,000 1,167,000 A 533,000
403 MtXISHHE X201 E 634,000 1,167,000 A 533,000
02 SO 2SHHEHAHE2 X HE At B 634,000 1,167,000 A 533,000
OJAOEDCI E St AFALS 634,000




D HEAR

a = A

CEEUR Y

ni

a= L=
Ha: KA S AU B
S UM SHUTNJAG (LEAXNIANJAILDNEL S A) (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
MMM UK SSS XA (2R E X ) 178,540 990,900 A 812,360
403 XX SHS K20 & 178,540 990,900 A 812,360
01 XIS AS2E X 178,540 990,900 A 812,360
OATHMHNHA ESE X RAIE 178,540
= CHRILPGHH 2 2 X & AF 12,400,000 0 12,400,000
= 10,000,000
= 2,400,000
403 XX SHHS K20 & 12,400,000 0 12,400,000
= 10,000,000
& 2,400,000
01 XIS A=Z2E X 12,400,000 0 12,400,000
2 S 2{LPGHH 2t & X| & At 12,400,000
= 10,000,000
o= 2,400,000
ol gl 8] 102,000 0 102,000
801 ol bl 102,000 0 102,000
NBUHERSE= 102,000 0 102,000
OueEseEa 102,000
MEES(HENUY X AL D) 5,000,000 5,000,000 0
HWEHNXES(LEAXNIANAILDNEL I A) 5,000,000 5,000,000 0
AAZ2EHHIANESHEI 2 EH 5,000,000 5,000,000 0
702 1282 5,000,000 5,000,000 0
MoIsEE2 5,000,000 5,000,000 0
OFA=ZENHXAMEELE)I=Y 5,000,000




N = 0l & At & Ml A

SoHAL =R A EAESHAHFAIH
AN A ALY B E A
AT HUATZA (LHAK AT A& KIS E3H) (B9 ®R)
- _ — d =
CRN I S(EH) - HRAY - BYS 0l &k o4 e HlnE2
=2 64,434,860 62,495,200 1,939,660
SdAHFAC 64,434,860 62,495,200 1,939,660
AMFELHAIIEtxH 64,434,860 62,495,200 1,939,660
ANESHdLUNAML (EHLAXNATN2ANEMNMS L3 H) 64,434,860 62,495,200 1,939,660
LHEAXNATNZAELMDES 45,880,000 42,160,000 3,720,000
308 XXM SO0l A 45,880,000 42,160,000 3,720,000
04 Al - Z2Z2ENES 45,880,000 42,160,000 3,720,000
OLEAXNATNRANELENRES 45,880,000
0l bl Bl 15,039,540 11,776,930 3,262,610
801 Gl BI8I 15,039,540 11,776,930 3,262,610
01 Btoldltl 15,039,540 11,576,930 3,462,610
LI ollel bl 15,039,540
FhAMAS LI A=A 1,806,270 6,597,720 A4,791,450
201 Let24d] 790,970 795,920 A 4,950
01 At 22l 783,770 738,720 45,050
Ogst=2Hl 758,120
oAz gnzdUE R 28,120
O NS HABMEEE 530,000
O NHA=HAMAFI ISt AL 200,000
O=2g8=¢ 5,130
OFNESHAHEEFAAZSE S 5,130
[E=3=3:] 10,920
OFNH ML R =TS A 10,920
baxis 9,600
OSHAMUXNZEHAHFIHAIRAAUE 9,600
02 23224l 7,200 57,200 A 50,000
03322 LA A 7,200
OSHAUAMURKNEHAHFIHARAZSER3
= 7,200
202 (4l 45,500 42,000 3,500
01 SLHOIYI 45,500 42,000 3,500
OSoHARNEEHAHZHAIL FE A 45,500
203 YR =&l 4,800 4,800 0
03 A F=XH R =AH| 4,800 4,800 0
OfXNEEHAHERFE 4,800
307 21201 A 820,000 850,000 230,000
02 QIAHFAAHFEX 730,000 750,000 220,000
D3N2I ddA X 500,000
OAXNSHSHAHEZEH2E XA 230,000
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